96.30
il 1591SFL Enclosure
[1.575] — [1.575]
)" e -
= $8.00 =l [ C— LID FASTENERS
[.315] ——— M3 x 10 mm Screws for FRABS/Polycarb D
———— #4 x 1/2" Self Tapping for GPABS
—————— 1
B % g 4 B —————— Slots for screws or mounting strap
68.40 2 E 82.20 ——————1
[2.693] g"‘% [3.236] |C———— FLANGED LID
————1
| C—
| G
= =) ————— =
o8 L@ B
M3 X 0.5-6Hx5.75 TOP VIEW OF BOX - L
A .
SIDE VIEW OF BOX SECTION A-A Mounting Holes for #6 - #8 screws:
(M3.5 - M4.5)
[1412315(; Brass Inserts in FRABS and Polycarb

No inserts in GPABS

2.06 3.00
[.081] [.118]
I T

—=ir<——AVERAGE WALL THICKNESS
2.00

[-079] c
| 1
SECTION B-B
EXPLODED VIEW OF ASSEMBLY
NARROWEST INSIDE
c ——NARROWESTllyzsg[;E DIMENSION —» D DIMENSION "
. - - 74.14
[4.029] [2.919]
[ ) = C )
r {
INNER BOX HEIGHT
39.90
[1.571]
il 0 | * il il
. !_ 103.77 —4 - L‘ 75.87 ‘J
END V{EW OF BOX [4.085] D [2.987] B
SECTION C-C N
SIDE VIEW OF ENCLOSURE SECTION D-D
#5.33 @4.75
[.210] [.187] 6.40
[ 135.60 - [252] T
F \ [5.339] W |
@ © é¥ © (Ol
@2.25 .
0.35 Los] Note:
[-368] Enclosures can be Factory Modified ( Milling, Drilling, Printing etc. )
6380 J—*U U 6105 68.20 8250 Solid models of this enclosure available in STEP or IGES Format.
[25'12] || [2_404] [2.685] [3.243] Contact Factory mjm@hammondmfg.com
315 | L’ PART NUMBERS
[.124]
Colour Part Number
O @) @ © O HAMMOND Black 1591SFLBK
- : U - Gre 1591SFLGY
A
[glzgg] 5.80 —f L WNU M' I URING Description Part Number
- 228 - See Accessories
96.40 [ ] Used with ABS PC Board Card Adapters Section
[3.795]

Enclosures | Replacement Screws, Flat Head Phillips Nickel 1591MS100
124.20 Plated Pack of 100, 1591MS100BK (Black
[4.890]
www.hammondmfg.com M3 -05 x 1omm Screws 30.40 o'
#4 x 0.5 Screws 30-40 cN*m
4§ 2




